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Fourth Semester B.Com. Examination, Sept./Oct. 2022
(cBcs)

COMMERCE
Paper - 4.4 : Cost Accounting

Time:3 Hours Max. Marks:70

lnstruction : Answer should be written completely either in English
or in Kannada.

SECTION - A
a?.rrorl - o

1. Answer any live sub-questions. Each right answer carries two marks. (5x2=10)
olndoaddo aab wd-${zleri sldoa. {e do en:$dd* add erodrl$lJ.

a) What is machine hour rate ?
od:o! ziol3od: dd oodded: ?

b) What do you mean by abnormal loss ?
erddar d{aodde$ ?

c) What do you mean by cost ?
daf,aodde$ ?

d) What do you mean by direct material ?
dedxou3:6 aoddedt ?

e) What do you mean by over time ?
e6d SaboJ:dd1e{rl.

f) Write any four items of selling and distribution overheads.
dncnu.r a3:{ addm d:ee3.raf,rled ob{cnddo ou:* wooddd Ena.

g) What is memorandum reconciliation account ?
droioeoorod# dooaardd p:ad aodded: ?

SECTION - B
Aqtorl - a

Answer any three questions. Each right answer carries six marks. (3x6=18)
olndoaddo dlJo$ {dJ"leri eruEotu. 4.s 3o w$d{ u& ecodridr.

2. State the important functions of cost accounting.
dalefd*a-gd $d>o radrdd$ eva.

P.T.O.
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3. M/s Varsha Co. manufactured and sold 6000 sewing machines in the year 2021 .

Raw materials t 6,00,000

Direct wages t 4,80,000

Manufacturing expenses < 3,00,000

Factory overhead 50% of wages

Office overheads 10% of lactory cost

Selling overheads t 20 per unit sold

All machines were sold for { 21,00,000.

Prepare cost sheet.

M/s ddr dodp Otut36" 2O21dO_ 6000 doOri olr€rlddldoiDotr dDoorod.

dza, rad:12i*b t 6,00,000

ded dreoo t 4,80,000

oro;Coa d8o t 3,00,000

roaord d:ee;: dz{dxooolr Ee. 50dS"

dq3eood: d:eer: dalroa:ard dz{d de. 10d#g

d>os: d:eu: dr^l { 20 8.9 o&,o0t,r6ri

oe4oU:o$rldQ< 2 1,00,000{ d>oo.l d>dond.
datdqob$4dolDo:,.

4. Calculate, re-order level, minimum level, maximum level and average stock
level from the following information.
Normal usage - 900 units per week
Maximum usage - 1350 units per week
Minimum usage - 300 units per week
Re-order period - 8 to 12 weeks
Re-order quantity - 7200 units

dodraaosro: $do" uded d:g do{$g rlod$qdrdJ dodo roq& $9,
addrl$b dddodoed.

:od>d udd

dod?^#d

dedDcrd

d)dd sdedderde

ddc," udeddddr, -

900 ol>oot,rd$ {0 aadd,

1350 oirDOr.filsb $0 aad{
300 oloorsrl$b $o aadd,

8 ood 12 aaddci)

7200 o$Dottrd$b

2
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dod:EoBooro.

6. From the following information compute a machine hour rate of machine no. 7
for the month ol December.
Cost of machine < 48,000
Estimated scrap value { 3,000
Repairs and maintenance for life of machine { 3,750
Effective working life 15000 hours
Power consumed by machine @ T 0.45 per unit - { 900
Standing charges for the month of December t 600
The machine consumes 10 units of power per hour.
€' ddtoi dDE"couod o$ryido. 7 d ooryi rlor3 dddab*&doa;d eoddo_dod>baoor.
o$€d r.r,u, aiFet, { 48,OOO

erooadad eSod:aad: rJeJ t S,OOO

oo€d deaodQo$oJd cbdl ab{ odrdd{ 3,750
odrryid deeodQ dei 1 5000 rlosSrlst>
o$G3d adrds" ?r$+dt O.4S de ofiDe[rri r"Blf 900
@doucr'gorldxooo Ozd:rrlsb t 600
6€a, dodrt 10 ofiJaot,r adrdeigoirqrsdrEd.

SECTION - C
o?i'orl_ A

3- 63422

5. standard time allowed to complete a lob is 25 hours. Hourly rtte is { 32, worker- 
SinOnVa complete the job in 25 hours and Tanu completes in 35 hours. Calculate

the eainings 6t tne worXers under Halsey and Rowan plans'

rod: derd-dd: dBearrloeiqr pd6d6tud ad i$o$ 25 dotjrld:. {6 rictjri
d:anot Sz. fop, dd de.:idQ 25 rlodddg-J:Q dd, dq de-:idd1 fs zio-t3fdOo

dBeordoeii:od. dbifodd *iooo::a1aaO^ofnez* $aj aoedo' Cneesd {rad

ffi$*ffi '3fi"'ir.:Hil9ff lyltTp?jJills&ju$ffi marks(3x14=42)
,.#i[ih:jie;i"*-[y#"u,fg',sj?y,ail:n"g,:jfi 

i,Hilffi:tJt#

3:l J |i,llJ'#::: 750 ks at t 625 per ks

::: l rssued s'o ['* 
at t 6s perks

oct. 7 purchased 
SOO f,g at { 64 per kg
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Oct. 10 lssued 1 I 00 kg
Oct. 20 purchased 590 kg at { S7.5 per kg
Oct. 22 lssued 400 kg
Oct. 25 lssued 900 kg
Oct. 26 purchased 500 kg at T 59 per kg
oc. 27 Surprus 50 kg, returned to storeiut of quantity issued on oct. 4.There was a shortage of 30 kg on Oct 15.
Prepare stores redger for these transactions under simpre average method.
ababoJ dodO OarCa ser]tuOo]lo d,o,rid& dajD.Eaabtriiean *a&ddddO sDoe6dDad).redo,euo'2021dOdndd*d-ai-bJ#;A?;;;Js\'/vsa,'Iv\-'..
udneud 1 sdoed 9er:* 750 d.d. de d.d.ri{ 62.5
edoreuor 3 eDoeo 125d d.d. 6o *.*.rit os
udn,eud 4 DeAd S50 d.A.

odrq;uo 7 $oeo 500 d a. d.e f.d.ri< 64
e&q:Dd 10 &e6d't100 f.d.
odneDcf20 $oeo590 d.d. 8.9d.a.d{57.5
udorea:cf 22 Oead 400 t d.

eedjaetJoc 25 &ead 900 d.d.c
erdorealof 26 sDOe6 500 d.d. d.9 E.d.d{ 59

sdjojDd 27 erQdaad 50 d.d.od:Qudoreud 4doc$ OeBfosrod &o8$MeDnd'

erdoeald 15 dod>30 d.d. dB&o,and.
dr $ee;*od d>bgo0rod idd ioaio d*3obo-id$dd amdobdldoiDo$'

S.Fromthelollowingparticularscalculateweeklyearningsofaworkerunder:

a) Straight Piece rate

b) Differential piece rate (Taylo0

c) HalseY Plan

d) Howan Premium Plan

Weekly working hours - 40' piece rate {.9' hourly rate of wages t 23' normal

time taken per piece i 5 
'in'lttt' 

normal outpui 
'pei week 1SO pieces' actual

oriput oi *btrt"i per week 180 pieces'

Ditlerential Piece rate :

a) 80% ol piece rate lor output below normal output'

bYl2[o/"ot piece rate for output above normal output'
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* fddod addrieod doinDdd andd doOo$d1do&aaocro.
a) ded $od: dd ddeo$od
b) t3ee.ro'ddd aafr d:od; dd ddJgo$cts
c) aaeJ^ o3nea;d d:Q a

d) draedd' cletuo$o oJoe6do$od.
r.ocb ;odd dsid rlot3dgt - 40, d:od dd < 9, dor,3d doO dd { 23, gio 6oad
&ead:d sad>d, iabo$ 15 Dtudd$, $e aad{ sod>d, guodd 150 ebod:dcb,
dEirodd oxamb woapd mdd* 180 a:o-a:ii*o. "

Oafr d:od: dd:
a) de. 80 dod d:odr ddd a3:ee3 dod:aaor:o eruoddoJr: :odnd en:olonod dad)

adO'orw)
b) de. 120 dod d:od ddd dlee3 dod)&aobo, eruaddoJ:: -dr{ ena;Cdnod

dz,ando.zJ o.,

9. Prakash Ltd. furnish the following information for 15000 units of a product
manufactured during the year ended 31-3-22:

Materials 1,35,000
Direct wages 90,000
Power and consumable stores 18,000
lndirect wages 22,5OO
Factory lighting 8,250
Cost of rectification of defective work 4,500
Clerical salaries and management expenses 50,250
Selling expenses 8,250
Sale proceeds of scrap 3,000
Repairs, maintenance and depreciation of plant 17,250
The net selling price was { 47.4 per unit sold and all units were sold.
As lrom 'l-4-2O23, the selling price was reduced to < 46.5 per unit. lt was
estimated that production could be increased in 2023 by 50% due to spare
capacity.
Rates for materials and direct wages will increase by 10%. You are required to
prepare :

a) Cost sheet for the year ended 31-3-2022 showing various elements of cost
per unit, and

b) Estimated cost and profit for Financial yeat 2022-23.

Assume that 22500 units will be produced and sold during the year 2022-23
and factory overheads will be recovered as a percentage ol direct wages and
office and selling expenses as a percentage of works cost.
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giad Otur,36' doaf)o1)) 31 d>atrr 2022 d fu ro${ eruo6,ld 1 5000 cd)ia0ttrrlffi

iouoq:,d *)bgol)) * dddodogd:

;od:rydsb

ded d:acrao

ad).d E abeb ?^ddolDd nd*rl$boe} -!
dd^q d:xno
roaord oedrisl:

do edoJ::j de.tddQ d:d1 riraer,d dat
&dFdea d{,'l$ d:* rbdn{d dor^H

dnotsd?3dd)
?.t

z,j.o &aa & dn o ss6od uoddl.
$da , Odrdd abdl ndde (o1>ogrodd, nouoqld>.)
&d*d d>ot: deioJD < 47.4 d,g ooraot,56d d:{ wo.,aad our ola&urrlct)
d>oouluoRd.

1-4-2023 ood d><na derob 8.9 ol)Jaot.f 7i { 46.5 dd q#saAd. edood dDo6d
2023d roodO arrbd sad:drrDomfl err:soddol:l de. 50 dd,o" uOdtto*t dluj: aoutr
ero6r*deJofld.

o$1 d:{ ded d:agrro ddrlsb de. 10 dd'} drajod.
d:eOd dn&.9oi:$ sdo:, ddnddrlddldoboier ioxad.
a) 31-d>ttrr-2o22 d darrodrd* $0 o:roontrd ior^roe&dod d{ drdo$dl

dojnoa d>dr

b) 2022-23 de deaaoio ddrd, ioooqrrd uororc dal &Q eDqJ dtdobdldolDotJ.

2022-2Sdedeaaiom0d*en:o;riearbdao_22500o1:topurri$dnouuadod
oocJ: sooadieaRd. romrd &ee3oz{fdQ ded ubzuooob d>ee3 d{ dqieo dnott
dreeioafldQ dqr roq abeeJ socodiond.

10. From the following details, you are required to prepare a reconciliation statement
and also ascertain prolits as per financial books.
Particulars t {

Cost Books Financial Books
1. Profitaspercostrecords 7,21,875 ?

2. Value of opening stock 1,62,000 1,40,625
3. Value of closing stock 1 ,77,750 1 ,62,000
4. lnterest on bank loan paid - 34,220

{
1,35,000

90,000

18,000

22,500

8,250

4,500

50,250

8,250

3,000
17,250

I
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5. Works overheads
6. Tax provision

7. Administration overheads
8. Loss on sale of machinery
9. Selling overheads

10. lnterest on bank deposits received
11. Depreciation
12. Fleserve for bad debts
13. Stores adjustment (credit) in pll alc

1. dr"fl oearo$-tdod Do6&d eDqJ

2. agdotpd dd$ &e.t*

3. eodrd ddd: $cr*

4. uaroSd;ood &ee3 dot^1 uq
5. aanrd a3:ee3*z{

6. dodtueien,9

7. uded&ee,raf,

8. 01:€ dnoaud dd
9. d>oar,: dal

63/,22

1,73,907

ddnd adddeodi${o$ da{odJQdolnoa aado dearoio ejdra{d$ad e>?,jdQ

dod:aaooro.

adddC)

85,500

aa{a{ad!*

7,21,875

1,62,000

1,77,750

1,28,438

1,73,907

85,500

1,35,000
80,157

1,92,470
28,125
72,188
u,220

1,'.t7,U5
30,095
14,063

erdra{pd{d
t

?

1,40,625

1,62,000

u,220
1,35,000

80,157

1,92,470

28,',t25

72,188

u,220
1,17,845

30,095

14,063

10. e:,Ddo6d dedEd abeeJ uod r.:Go

11. i#e
12. dd&saEd0e
13. roqd: doocos6d end-{ eodod:O_ (rd>)

11. A firm has three production departments X, Y and Z and two service departments
A and B. The following figures are extracted from the books of the factory :

Depreciation

Lighting

Rent

t
12,000

720

6,000

lndirect wages

Power

Others

t
1,900

1,600

12,000

-7-

1,28,438
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Other Particulars :

XYZAB
Floor space (sq.feet) 400 500 600 400 100
Direct wages ({) 900 600 900 900 700
Light points 20 30 40 20 10
H.P. of the machines 75 30 25 10
Value of the machinery (t) 12,000 16,000 20,000 1,000 1,000
Working hours 3'l 13 2014 2033
The expenses ol service departments A and B are to be allocated as follows :

XYZAB
A 20% 307" 400/o - 10Y"

B 4O"/o 2O"/" 20"/" 20V"
You are requested to distribute lhe service department expenses to the
production department (X, Y and Z) and calculate hourly rate of each production
department.

uod: rceordo$O_ d)ro& err:sadoa qeDs3d$ X, Y &* Z aartn add: fe;o
qeDeirl$bA d:{ B ed. ddhd caos uodddQnaordod: ${drleod ddo$ond.

{
1,800

1,800

12,000

Ififlt][ilil]flilltfltilt

B

100

700

10

,000

n*de

aeddst:

?,DATI

edd cddriqt :

ddoed ddrlgt>e.l a,

oqq",q

"dd

{
12,000

720

6,000

dod md(ddd sarldoJ
ded*aoo ({)
oedrld doa{

ob€dsjH.P.
o$€dd utfao, (<)

dsid dot3dct)

x
20o/o

40%

Y

500

600

30

30

16,000

2014

z
600

900

40

25

20,000

2033

A
400

900

20

10

1,000 1

iem arpdrlsadA $* BrldsoanrddQ* dsJnddrldod dozsf dndoand:
Y

30o/o

ZOY"

z
40o/"

207o

B
1O"/"A

B 2Q7o

da-r .rpzlrirr a)cd:rrlddlen:oa,&a aqDrl (X, Y $+ Z) rl97i doz3d d>a {0 eru6d&

aqDrlrld rioti ddddldod:&aouo.

x
400

900

20

75

12,000

31 13

A


